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General Instructions to Candidates :

adajodmoladdongs aaummidegmaoned :

¢ Thereis a*Cool-off time” of 15 minutes in addition to the writing time.

¢  Use the *Cool-off time” to get familiar with questions and to plan your answers.

* Read questions carefully before answering.

*  Read the instructions carefully.

¢ Calculations, figures and graphs should be shown in the answer sheet itself,

*  Malayalam version of the questions is also provided,

¢ Give equations wherever necessary.

*  Electronic devices excepl non-programmable caleulators are not allowed in the
Examination Hall,
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7. A manufacturer produces nuts and bolts, The time required to produce one packet of
qats and one packet of bolts on machines A and B is given in the following table :
Machine A Machine B
Nuts 2 hours 3 hours
(1 packet)
Bolts 3 hours 1 hour
L {1 packet)
He earns a profit of T 25 per packet of nuts and T 12 per packet of bolts. He operates his
machines for almost 15 hours a day. Formulate a linear programming problem to
maximize his profit.
Questions frem 8 to 17 earry 4 scores each. Answer any 8. (Bx4=32)
8 Consider the curve y = x* + Bx + 3.
{a) Find the point on the curve at which the slope of tangent is 20. [&)]
{b) Does there exist a tangent o the above curve with negative slope 7 Justify your
answer. (1)
0. {a) Which of the following functions is not continuous at zero 7 (n
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